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i BE e i En = VA e it R I it
Rk 13 3,076 193 345 3,614 4,778 8,392
Rk 1 44F 6,703 511 685 7,899 12,530 20,429
Rk 15 6,355 575 746 7,676 10,848 18,524
Rk 1 64F 6,668 1,148 606 8,422 10,526 18,948
R L TR 6,091 1,252 559 7,902 9,957 17,859
Rk 184 6,887 1,431 599 8,917 9,899 18,816
Rk 194 7,127 1,361 543 9,031 10,047 19,078
k2045 7,294 1,522 585 9,401 11,039 20,440
2 1R 6,966 1,372 628 8,966 10,930 19,896
Tk 224E 5,605 1,297 544 7,446 10,269 17,715
R 234 6,144 1,284 554 7,982 9,961 17,943
SRR 244F 6,499 1,394 487 8,380 10,039 18,419
%254 2,024 1,025 116 3,165 2,721 5,886
R 264F FE 357 981 32 1,370 621 1,991
R 2 TR 228 913 41 1,182 680 1,862
R 284E 157 905 44 1,106 592 1,698
TRk 294F 1 0 0 1 9 10
Wopk 304E 1 0 0 1 4 5
AR B 2 0 0 2 1 3
BRN2EEE 0 0 0 0 0 0
a  &F 78,185 17,164 7,114 102,463 125,451 227,914

B M 0 0 0 0 1 1
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